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FHo| 7tR2 9] ol TH O] £ 9] Zojot ZEHUth
(7}&) = 18 x 3.14 = 56.52( cm)
(B39 Zo]) =56.52x2+9x2

= 113.04 + 18 = 131.04( cm)
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2159 dol= 7em YUt o] IR A

(7}&)= 14 x 3.14 = 43.96( cm)
(E@2] Zo]) =43.96x2+5x2
= 87.92 4+ 10 = 97.92( cm)
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13. o5 ¥71se] 2o ¥ 5] Zole sem YU o] A=A
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>
[> = 80.8cm

A0l 712 9] doli= W] Ed 2] Zolet Zs Tt
(7F2) =10 x 3.14 = 31.4( cm)
(B39 Zo]) =31.4x2+9x2

= 62.8 + 18 = 80.8( cm)




o] 97159 Eol7t 5em U Th o] 9715 HMAEoA Ao
=919 dol7t 47.68 cm 2, ¥7]F5 e BHO] E9] dol= 2 cm
Q12| A L.

» = cm

[> ®gh. 18.84cm

B
FHO 20| dol= oot g1 B &9 dol= 7129
dolet g5t

(P99 =)

= (712) + (&°]) + (7}2) + (&°))

=(7}2)+(7}R)+10 = 47.68

(7IE)+(7I2)= 37.68

(7}2)= 18.84( cm)
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At ZH Y

(Tx2x3.14) x4+ (5% 2)
= 175.84 + 10 = 185.84(cm)
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CH

(FAZFE e 7he)= (THe] o] 9%)
(I1x2x3.14)x4+7x%x2
= 6.28 x4 + 14 = 39.12( cm)
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> HE D 129.04cm

4715 AL Dol =9 ol AP 7t= 9
dolet g5t

(RHES] =] Zo))

= (FAAF 9] 712 )x4+ (AI2)x2

— 9826 x4 +8x2

=113.04 + 16

— 129.04(cm)
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U®o] 3 /jo]BE 3 x 14 = 42(cm) YT}




